Comprehensive Medical Consultations

In-Office Consultation – \$175

Includes one free Styku 3D Body Image Scan with a comprehensive evaluation.

Experience a comprehensive medical evaluation in a private, comfortable setting. Our experts offer tailored insights and personal guidance to effectively address your health and wellness needs.

In-Office Telemedicine Consultation – \$175

Includes one free Styku 3D Body Image Scan with a comprehensive evaluation.

Connect with our specialized medical professionals through a secure, real-time video consultation within our clinic. Receive comprehensive guidance and recommendations without waiting for a traditional appointment.

SEMAGLUTIDE PRICING

Our prices include four injections (Administer one injection weekly over four weeks).

Medication Dosage	Dosage Schedule	Medication Prices	
	Customized to individual patient needs	(4 weeks of treatments)	
0.25mg/week	Weeks 1-4	\$ 324	
0.5mg/week	Weeks 5-8	\$ 349	
1mg/week	Weeks 9-12	\$ 374	
1.75mg/week	Weeks 13-16	\$ 399	
2.4mg/week	Weeks 17- onward	\$ 399	

[&]quot;Once properly trained, our established patients can pick up their monthly doses for selfadministered injections at home."

TIRZLPATIDE PRICING

Our prices include four injections (Administer one injection weekly over four weeks).

Medication Dosage	Dosage Schedule	Medication Prices	
	Customized to individual patient needs	(4 weeks of treatments)	
2.5mg/week	Weeks 1-4	\$ 449	
5mg/week	Weeks 5-8	\$ 499	
7.5mg/week	Weeks 9-12	\$ 499	
10mg/week	10mg/week Weeks 13-16 \$4		
12.5mg/week	Weeks 16 + onward	\$ 649	
15mg/week	Weeks 19 + onward	\$ 699	

[&]quot;Once properly trained, our established patients can pick up their monthly doses for selfadministered injections at home."

Most patients do not require more than 10 mg, but dosages up to 15 mg are available if necessary

Revitalize You Weight Loss Services and Memberships Prices

ReNewFit Coaching Mobile App (download from the App Store)

Stay on track with Renewfit Coaching App options:

1-Month Access – \$15.99

Monthly Membership

- 3-Month Access \$29.99 (Save \$17.98)
- 6-Month Access \$49.99 (Save \$45.95)
- 12-Month Access \$89.99 (Save \$101.89)

Monthly Membership

Includes full access to our Revitalize You Renewfit Coaching App and services

- Nutrition Coaching Meal plans, grocery lists, and menu library
- Fitness Coaching Workouts, virtual sessions, and exercise library
- E-Books & Guides Recipes, workouts, and mindfulness resources
- Client Portal Track progress, log meals, and get daily motivation
- Exclusive Content Access to videos, webinars, courses, and event invites
- Live Coach Support Connect by text or video chat
- GPL-1 Weight Loss Plan 28-day guided plan
 - **❖** Medications not included



3D Body Imaging with Consultation

Take control of your fitness journey with Styku 3D Body Imaging. Schedule your session today!

- Styku 3D Body Imaging with Consultation \$49
 Includes a full 3D body scan and a personalized consultation.
- 12-week 3D Body Imaging Membership \$99 Membership includes:
- Three 3D Body Imaging scan: One per-month 3D Body Imaging scan.
- 3 Monthly Consultations to review progress, analyze results, and set new goals tailored to you.

Preparing for Your Styku 3D Body Scan

To get the most accurate scan, please wear the following:

- For Men: Compression shorts or fitted boxers; a fitted T-shirt or go shirtless.
- For Women: Leggings or form-fitting shorts; a sports bra or fitted tank top.

 Avoid loose clothing, belts, and accessories, as they may affect scan results.
- Scans can be done with or without a technician present.

Styku 3D Body Imaging: More Than Just a Scale

Unlike standard scales, Styku provides a full 360° view of your body in just 30 seconds. Infrared sensors capture over 600 data points to deliver:

- Precise Body Measurements for waist, hips, chest, arms, and more
- Body Composition Tracking of body fat, lean mass, and muscle gain
- Visual Progress with side-by-side comparisons over time.

Gain an accurate picture of your fitness journey, with results that go beyond weight loss to track accurate, lasting progress.

28-Day ReNewFit Kickstart Package Bi-Weekly - Starting at \$124.99

Basic Package - \$124.99 (without medication)

Includes:

- ReNewFit Mobile App coaching and Fitness support. \$15.99
- Personalized 28-day GPL-1 daily menu.
- Meal planning, grocery shopping lists, and access to the menu library.
- 2 <u>Bi-weekly</u> one-on-one coaching sessions \$60
- One 3D Body Image Scan with consultation \$49
- 10% off protein and supplements in-store purchases

Bi-Weekly ReNewFit Kickstart - package with Semaglutide Starting at \$448.99

Medication Dosage	Medication Prices	Add \$124.99 28-Day Renewfit Kickstart Package Bi-Weekly
0.25mg/week	\$ 324	\$ 448.99
0.5mg/week	\$ 349	\$ 473.99
1mg/week	\$ 374	\$ 498.99
1.75mg/week	\$ 399	\$ 523.99
2.4mg/week	\$ 399	\$ 523.99

Pricing reflects the combined cost of the Basic Package and the selected Semaglutide dosage.

Bi-Weekly ReNewFit Kickstart package with Tirzepatide Starting at \$573.99

Medication Dosage	Medication Prices	Add \$124.99 28-Day Renewfit Kickstart Package Bi-Weekly
2.5mg/week	\$ 449	\$ 573.99
5mg/week	\$ 499	\$ 623.99
7.5mg/week	\$ 499	\$ 623.99
10mg/week	\$ 499	\$ 623.99
12.5mg/week	\$ 649	\$ 773.99
15mg/week	\$ 699	\$ 823.99

28-Day ReNewFit Kickstart Package Weekly - Starting at \$164.99

Basic Package – \$164.99 (without medication) Includes:

- Renewfit Mobile App coaching and Fitness support. \$15.99
- Personalized 28-day GPL-1 daily menu.
- Meal planning, grocery shopping lists, and access to the menu library.
- 4 <u>weekly</u> one-on-one coaching sessions \$100. (\$25) per session)
- One 3D Body Image Scan with consultation \$49.
- 10% off protein and supplements in-store purchases

Weekly ReNewFit Kickstart Package with Semaglutide Starting at \$488.99

Medication Dosage	Medication Prices	Add \$164.99 28-Day ReNewFit Kickstart Package Bi-Weekly
0.25mg/week	\$ 324	\$ 488.99
0.5mg/week	\$ 349	\$ 513.99
1mg/week	\$ 374	\$ 538.99
1.75mg/week	\$ 399	\$ 563.99
2.4mg/week	\$ 399	\$ 563.99

Pricing reflects the combined cost of the Basic Package and the selected Semaglutide dosage.

Weekly ReNewFit Kickstart Package with Tirzepatide Starting at \$613.99

Medication Dosage	Medication Prices	Add \$164.99 28-Day ReNewFit Kickstart Package Bi-Weekly
2.5mg/week	\$ 449	\$ 613.99
5mg/week	\$ 499	\$ 663.99
7.5mg/week	\$ 499	\$ 663.99
10mg/week	\$ 499	\$ 663.99
12.5mg/week	\$ 649	\$ 813.99
15mg/week	\$ 699	\$ 863.99

12-Week ReNewFit Bi-Weekly Kickstart Premium Membership Starting at \$308.99

Basic Package – \$308.99 (without medication) Includes:

- ReNewFit Mobile App coaching and Fitness support \$29.99
- Personalized 12-week GLP-1-1 daily menus.
- Meal planning, grocery shopping lists, and access to the menu library.
- 6 Bi-weekly one-on-one coaching sessions \$180. (\$30) per session)
- 3 Styku 3D Body Image Scan with consultation \$99
- 10% off protein and supplements in-store purchases

Bi-Weekly Premium Membership Package with Semaglutide, Starting at \$ 1,208.99

Medication Dosage	Medication Prices	Add \$308.99 28-Day ReNewFit Kickstart Package Bi-Weekly
0.25mg/week	\$ 324 x 3 months = \$972	\$ 1,280.99
0.5mg/week	\$ 349 x 3 months = \$1,047	\$ 1,355.99
1mg/week	\$ 374 x 3 months = \$1,122	\$ 1,430.99
1.75mg/week	\$ 399 x 3 months = \$1,197	\$ 1505.99
2.4mg/week	\$ 399 x 3 months = \$1,197	\$ 1505.99

Pricing reflects the combined cost of the Basic Package and the selected Semaglutide dosage.

Bi-Weekly Premium Membership Package with Tirzepatide, Starting at \$1,655.99

Medication Dosage	Medication Prices	Add \$308.99 28-Day ReNewFit Kickstart Package Bi-Weekly
2.5mg/week	\$ 449 x 3 months = \$1,347	\$ 1655.99
5mg/week	\$ 499 x 3 months = \$1,497	\$ 1,805.99
7.5mg/week	\$ 499 x 3 months = \$1,497	\$ 1,805.99
10mg/week	\$ 499 x 3 months = \$1,497	\$ 1,805.99
12.5mg/week	\$ 649 x 3 months = \$1,947	\$ 2,255.99
15mg/week	\$ 699 x 3 months = \$2,097	\$ 2,405.99

12-Week ReNewFit Weekly Kickstart Premium Membership Starting at \$428.99

Basic Package – \$428.99 (without medication) Includes:

- ReNewFit Mobile App *Coaching and Fitness Support*. \$29.99
- Personalized 12-week GLP-1 daily menus.
- Meal planning, grocery shopping lists, and access to the menu library.
- 12 <u>weekly</u> one-on-one coaching sessions \$300 (\$25) per session)
- 3 Styku 3D Body Image Scan with consultation \$99
- 10% off protein and supplements in-store purchases

12-Week Premium Membership Package with Semaglutide, Starting at \$1,400.99

		Add \$428.99 28-Day	
Medication Dosage	Medication Prices	ReNewFit Kickstart	
		Package Bi-Weekly	
0.25mg/week	\$ 324 x 3 months = \$972	\$1,400.99	
0.5mg/week	\$ 349 x 3 months = \$1,047	\$1,475.99	
1mg/week	\$ 374 x 3 months = \$1,122	\$1,550.99	
1.75mg/week	\$ 399 x 3 months = \$1,197	\$1,625.99	
2.4mg/week	\$ 399 x 3 months = \$1,197	\$1,625.99	

Pricing reflects the combined cost of the Basic Package and the selected Semaglutide dosage.

12-Week Premium Membership Package with Tirzepatide, Starting at \$1825.99

		Add \$428.99 28-Day	
Medication Dosage	Medication Prices	ReNewFit Kickstart	
•		Package Bi-Weekly	
2.5mg/week	\$ 449 x 3 months = \$1,397	\$1,775.99	
5mg/week	\$ 499 x 3 months = \$1,497	\$1,925.99	
7.5mg/week	\$ 499 x 3 months = \$1,497	\$1,925.99	
10mg/week	\$ 499 x 3 months = \$1,497	\$1,925.99	
12.5mg/week	\$ 649 x 3 months = \$1,947	\$2,375.99	
15mg/week	\$ 699 x 3 months = \$2,097	\$2,525.99	